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QUESTION 1

Which type of jobs can be compiled into Orchestrate Scripting Language (OSH)?
A. Server jobs

B. Parallel jobs

C. Sequence Jobs

D. Mainframe Jobs

Correct Answer: B

QUESTION 2

Which of the following CANNOT be defined in the DataStage configuration file?
A. Degree of parallelism

B. Scratch disk dedicated for sorting

C. Compilation options for DataStage jobs

D. A named pool including only part (some) of the nodes

Correct Answer: C

QUESTION 3

Which of the following components need to be up and running in order to use InfoSphere Discovery Studio?
A. WAS (WebSphere Application Server)

B. The ASB agent

C. The database holding the Information Server Metadata Repository

D. All of the above

E. None of the above

Correct Answer: E

QUESTION 4
Using a Job Sequence, which of the following tasks CANNOT be performed?

A. Define specific user variables and make them available within a Job Sequence
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B. Drop a database table using a script, then start two different parallel jobs in sequence when a file appears in a
specific directory

C. Run two different parallel jobs in sequence and use job parameters to pass different $APT_CONFIG _FILE values for
each of them

D. Create multiple Exception Handlers stages to handle different types of failures

Correct Answer: D

QUESTION 5

In Blueprint Director, how do you easily recognize that an element contains a subdiagram?

A. There is a little ?icon associated with the elementThere is a little ??icon associated with the element
B. There is a little green arrow associated to the element

C. There is a little ??icon associated with the element

D. Double clicking the element is the only way to find out

Correct Answer: C
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